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L 1.tan(a+b)=

h;Z.csc2 x =

X 3.sin(a+b) =
9 4.sec’x =
b 5.sin(a — b) =

_CL6. cos(a + b) =
iTcos 2x =

€ 8 cos?x=
) 9.tan(a — b) =

C 10.cos(a — b) =
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a.sinacosb +cosasinb
b.sinacosh —cosasinb
c.cosacosh + sinasinb
d.cosacosb —sinasinb
e.1—sin’x
f.1—2sin*x
g.1+tan?x

h.1 + cot®x

. tana +tanb
l-—
1 —tanatanb

. tana —tanb
7 + tanatanb

11. Find cos 260 given that sinf = —% and @ is in Quadrant .
2 . 2 — S
cos26 = cos & =Sin & 5
\Z
\?

(-G

= 235 ﬁ
0 [9
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. . 5
12. Use the half-angle identity to evaluate tan 5 exactly.

'l;o.ﬂﬁ: | -cos© :’5 z
Z  sing b=

tan ST = 4an B - |- cos%,-

2. Sin3T
Sm—_ b
L % = 1= (%),
or=26 .

(

2
(2 © :(\-}E .3'—-;
.S;"':@ 2 '

13. Find all solutions (in radians) in theinterval 0 < x < 2m. cos(3x)+1=0

co@?—— l O Sxen

3x=TC,0T) 5T (4,9)
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14. Find the exact value of sin218°c0s98° — cos 218°sin 98°.

:

15. Prove the identity. Show ALL steps in order to receive full credit.

2 COS 2Xx
Sin 2x

LS = Z (oSK-S0 _ codX sy
Qsinxcosx SN ook

= cotx —tanx
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16. Given cosa = —15—3 , aisin Quadrantlll, sinb = %, and b is in Quadrant Il, find cos(a — b).

-s 5
13
-3

cos{a-b) = 2‘ _oés,_a (osb-!' Sinasi (\LD

17. Evaluate sin (sec‘1 2 )

L=y

18. Find all solutions (in radians) in the interval 0 < x < 2m. 4sinxcos?x = 3sinx
4 sinx cosx —3sinX = )
4ab -3a =0
A <4'bz —29 =O
SinX <+coszx —3> =0

Sinx =0 4 cos® x—3 =0
3

E(zo_ﬂ\‘) COSX’—(— |

Cosx =+

2.
€2 (7,0 - I
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19. Prove the identity. Show ALL steps in order to receive full credit.
1+ 2cos? x

Lrs= | +2 (\—su\’X) 1Y 2-2sinx
sin’x sin"x
=3-asinX = 3 _ 2sin¥
Sinx 510X Sin*x

=3csc?x —2

= Sese’x ~2. “RHS

A. Determine the quadrant in which the angle 28 from problem #11 lies, and explain how you determined that

26 <0 frond D
si026=2sinB s @‘T 20 (- )’a

QQ e&’ﬂl @w?;%%%

B. Find all solutions (in radians) in the interval 0 < x < 2.

X=X 3T o 21 9 I

22 ) =

4)4\,( ?_‘

—
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ﬂ,‘% handout~
35. $h|{: 'h: 'ngk'H\ous‘ N3LE
T mi of 332°

ship x tﬂ“ki hoe " Sg e

—

X .83
StalA®  Sob2°

X = Fsinlot”
Sin2°

Iz SAS >
47 I8, | aw of cosines

~; x"-:: (\ﬁ +éz%»‘zwm

i § X= X\%HZO 2 mﬁ@ W
x 0
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4G,
K'=2545-205))os T
k= |5 AP
Mo

—

3.]
% AB 20mi
SSE
Ahfe NSgE  x=7
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7.5, 7.6 - Vectors

A vector is a directed line segment;
it has a unique length (magnitude) and direction angle

Vector Addition:
Vectors can be added using the
Triangle Method or the Parallelogram Method

7.5 #28. An airplane flies 032° for 210 km, and then 280° for
170 km. How far is the plan, then, from the starting point, and
in what direction?
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Homework:

« "Chapter 5 Test" on pages 526-527 of your textbook
« "Chapter 6 Test" on page 591 of your textbook

« Read sections 7.5 and 7.6 before class Monday
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